TP1 R 5 1E RS

AEEm UL 4812, NOVOSTRICTIVE

AR

TR, @xtEmY, TESER2EA4500mm

B EEN

d A AR RS, ARSI R K
B a4 )5 B, NOVOSTRICTIVE I &4 A

Al fy 2 8 0

TCALAE B, TCPR AL 5y
o 1) PR I8 B PR AS 5w
Al N\ T.4a#% Teach-In & it
AT L B

LS, BTk 50 pm

TR TAERRK/D, /PR R Rk 0.001 mm

15 2% <30 ppm/K
i s PRSI P RE I 5
i P A K mT
B 471244 1P67 / 1P68

& M NOVOSTRICTIVE i
AR B A e fh 5 B i 44
2 JEUBE Y e R T AE R S A0 i
718 R FH OO S R JE #EAT L
B REH A

e J 2 DN 42 1 i A ) iR
KR AR ik 77 X8, e
e K2 TCHLBR VB % -

T IR W75 BN e WE ] 2 iF
Ba), Wi Smsa. 2o
EANHE ARG, Rl s
R I R R

e i 2 I A% Lo R R TT
PALRB S TE . BITE T %
PO, EREDUL G IR A

novotechnik

S RE B T 42 g A e [
PBUBRES MR 2 5, 183%™ i i)
WA 4500mm.

i & 2% R A St k) ASIC
LR 5% N 7 R P
LR NE R ok =R )
i 3k L B B DC/DC % 4 2% ik
fronfhe.

oAb 15 AR Bk

Tk S 5 S 5 R
BB
N WIRACH], R
% % AT
BB P
SURBI, WHRERAR
WA NOVOSTRICTIVE ¢k X B 5 0 J 31
A 8+ M12 x 1 BB B3
8 #F [EC130-0 BT Bt S«
6 £ IEC130-9 IITE bt i I«
8 15 8x0.25mm’ PUR/PVC FERAE, K 1, 5Kek 10
T A5 ASIC 1 s SMD

15 5 B DRI Ao B B 1 KR 2RI b5

LA B RS




novotechnik

B0 B2 1 A% A% al o FL
&8 H A Teach-In Zhfig.

oR/ROAC0
|
N
H [}
T
38
[z M
© @
[ | l3
) |
o - N | L |
[©® @ |
HUHOADU «l M16x0,75
,.LL | M5x20
/ — DIN EN ISO 4762
g = W Z-TP1-P06
T
T
C
©® @]
R I
| g
+I|
| o
I m
© M12x1
OISR HHBYHE RSk IR IR
#S101,102 #5201, 203, 205 EEM 33-86, EEM 33-87 R BE
EH 1 i SR 0(4)...20mA %=
£ 2 IR Az ki {55 f5 i
FHi 3 Rl 23 % +10... 0 (-10)VDC
EF 4 ERi) i) DIAG* DIAG*
E 5 30} R 2 0(-10) ... +10VDC
£ 6 R gl b o
EF 7 fito RO +24VDC +24 VDC
i s S pRu) PROG* DIAG*
OISR 2N EEE N *) 5 R Teach-In ThfkHE: 1 (& WARAETI).
45103 BE R
EFR 1 0..10VDC 0(4)...20 mA
£ 2 f5 5 f55 i
£ 3 10... 0 VDC 2
EF 4 H L
£ 5 +24VDC +24VDC
£ 6 o L b




novotechnik

BEEN TP1-____-101-41_-___ TP1-____-101-42 -___

EIBE IR
BSSH BT
TAERFE (RNB) 0050 % 4500 0050 % 4500 mm
it Ltk <+ 0.02 % FS. (/b £ 50 pm) < #0.02 % FS. (/b + 50 pm)
WA A + 0.5 (/b2 x AT &) + 0.5 (/2 x A E ) mm
s s R itk

0.1... 10VDC (fi#k > 5 kQ) 0.1 ... 20 mA (f%k < 5000)

-10 ... 10 VDC (f#k > 5 kQ) 4 ... 20 mA (fi#% < 5000)
pig & 16 16 i
] A2 <0.03 <0.03 % F.S.
TR L S <0.01 <0.01 % FS.
AR 24(19 ... 30) 24(19 ... 30) VDC
FL B B AR 24 (18 ... 36) £ WLIT W HLA 158 01 VDC
AR RN 3 <10 <10 % Vss
LD <100 <100 mA
5K H T 16 16 kHz
i B 2B <30 (%/h0.01 mm/K) <30 (#/h0.01 mm/K) ppm/K
LR 40 (I BRHY/ 1 min.) 40 (I BRA/ 1 min.) VDC
etk BE R, IR HL R Up 0 Unax Up t0 Upax VDC
&5 R Up 10 Unax Up 10 Unnax VDC
#aZ LA (500 VDO) >10 >10 MQ
WS
R LU WLIE
HMSERIE (RSFHA) Rt B + 146 RoF B + 146 +2mm
TS
AR TS -40 ... +85 -40 ... +85 C
it B S F -40 ... +105 -40 ... +105 C
AR T 0... 95 (Jeto k) 0... 95 (Lt k) %R.H.
MTTF (DIN EN ISO 13849-1:2008 23 23 A
(he, TefEk)
Bkt ik DIN IEC68T2-27 100 (11 ms) (¥fLif) 100 (11 ms) (¥if) g
HidR By kil DIN IEC68T2-6 20 (5 .. 2000 Hz, Amex=0.75 mm) 20 (5 ... 2000 Hz, Amex=0.75 mm) g
[471%54% DIN EN 60529 IP67 iy B8k IP67 iy S He

1P68 B i gi 1P68 T i 4i
1= AR F RN S
i 1A U S I B de R R 10 ms’
i A R 5 TR A B AT i 200 ms?
K iy TR (BLAK) /s
bR TARRFIEE (RB) 50, 75, 100, 125, 150, 175, 200, 225, 250, 275, 300, 325, 350, 375, 400, 425, 450, 475, 500, mm

550, 600, 650, 700, 750, 800, 850, 900, 950, 1000, 1100, 1200, 1300, 1400, 1500, 1600,
1700, 1800, 1900, 2000, 2250, 2500, 2750, 3000, 3250, 3500, 3750, 4000, 4250, 4500

A AT 5
i R CE-ARfE
fur iR RFE: 4% 5EN 55011, class B
U bR ESD EN 61000-4-2

SRAHHIE EN 61000-4-3
[t EN 61000-4-4
RF %1% S4i#k EN 61000-4-6

) Bl S HE SRR, PSR SN TR R



novotechnik

36,5
28
20 +2 ‘: ©
] i 27
Z-TP1-P06
EEM 33-84 EEM 33-85 EEM 33-86 EEM 33-87
b2
.‘L i *n i" H EEF A
TR AR LR e 8 £t IEC 130-9
AR B A HE:3J EEM 33-84
BEED
4: B RO 6 %I IEC 130-9
R D B $2k EEM 33-82
cukat 8 £ IEC 130-9
2: Wik 25 #1823k EEM 33-85
SR ER D 41_ 6 £t IEC 130-9
1: 0 VDC ... 10 VDC 1 10 VDC ... 0 VDC < B
4:0VDC ... 10 VDG Hukii e EEM33-94
6:-10 VDC ... +10 VDC HiFg 8
BB D 42 8 x 0.25mm’ PUR B iliz L4 ,
1:0mA ... 20 mA 3
oo o i 8 FF M12x1 M E Rk,
3:4mA...20 mA 2 KHL4i EEM 33-86
4:20mA ... 4 mA N e
5 JkHL 45 EEM 33-90
RSEE 10 K HL45 EEM 33-92
101: 8%#HEC130-Oll 45 3k
102: 85FM 12x1 Bl 3k
108: 6%HEC130-9 [l % 2 F w
201: NT KRl 1k 8 x 0.25mm” PUR Jrific .41,
203 NT g 3 1 8 £ M12x1 Mgk,
205: NT prfi L85 5 K 2 *EE?)‘IL,I: EEM 33-87
T P 1 0 8 0 O 1 0o 1 4 1 1 1 0o 2 5 *%gﬁ EEM 33-91
E3) TiEEiEEm 10 K HL 45 EEM 33-93
b 1 50mm 5 4500mm
0050705005 K N, Lh253Ekike: 05007 10002 K W, LASOREA #EHY;
1000% 20005 K 1, LA100EK #H; 20007545008k N, LA250SE K i ; BLERF Z-TP1-S01-
At 3 ] 5 1) i ‘ o
(P Z-TP1-P0O8 fi Yt & )
TERARERE WERHE (F5MTHE ) RIBE KA EH =M
ke 746 B FrufEREE 10 0k
ot 5 IV 14 [o] Sk R ET Z-TP1-P06, FEok Bk
FEimas: 005693 ey, Wa. dyagkeEn
Z-TP1-P07, (2 AT RLAY A BERHSLEA )

PR S 005694
SR
Z-TP1-P08,
FEEh SRS 005695

] i TSR S ) L A AR i B

BEERT
G AT DR BT I AR
ey, RS e bt i
fE5Hgi.

AR, BARITEM
4



novotechnik

TP1/TLMZ 5| fz 1k
EEfm X L BB AREIR/REIR

Z-TP1-P06
@ LEE o3 T W A
RS 005693

73 20
i HH 10 58
= 2 TAEMEE: 0.5-3mm
i T ﬁ
) s Z-TP1-P07
N - B
2 ] | GRS 005694
A HY 40 5
i TAERMEE: 3-12mm

55.5 - 64.5

Z-TP1-P08
o e SRR
ez M P4 005695
— 2 o
_— ] & H2) 30 7%
I;—PI
Z-TP1-S01-
. Z-TP1-P08 it Z-TLM-PO5 %
M5 - DIN 934 g{m%ﬁ&ﬂ
N - I O =4 :_’? ﬁé"]150ﬁ/*
DIN 1SO 12240-4 / K E‘n’ *d‘ )I:)ri ; %E
= . e FRERIE (O -
e x i 0075, 0100, 0125, 0150
“L *(j j 0200, 0250, 0300, 0350
0400, 0450, 0500, 0600
S
s 0800, 1000, 1500, 2000
(BN )





